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How Newton Used the Law of Inertia

CHEN Guoxian

(Putian No. 2 Middle School, Putian, Fujian 351199)
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(College of Physics and Information Engineering, Minnan Normal University, Zhangzhou, Fujian 363000)

Abstract: Newton's first law is not an induction of experimental observation, but an axiom. Newton first used

it to establish that after two impulsive forces were com bined and acted on the object, the object would move along

the diagonal in a straight line due to inertia. Then he used the law of inertia the second times and three times to

prove the first proposition in the Principle -an object subjected to centripetal force must obey the area law and its

Inverse proposition. From this, we can understand how Newton interpreted and applied the law of inertia, and help

teachers grasp the core concepts of physics in teaching.
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